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Cummulative change since the change
in monetary policy stance(bp)



The effect of unanticipated monetary
policy shocks

Δ𝑖𝑡 = 𝛼0 + 𝛼1Ψt + 𝜖𝑡

1. Estimación of monetary policy shocks as one-period
forecasting errors from the model:

𝑖𝑡
𝑝
= 𝑓 𝑌, ത𝜋, 𝜋𝑈𝑆𝐴, ∆𝑠, 𝐼𝐶𝐼, 𝐶𝐶𝐼 𝑡−𝑝 +Ψ𝑡

Ψ𝑡 = 𝑖𝑡
𝑝
− 𝑖 Τ𝑡 𝑡−1

𝑝

Where Y : Output gap, ത𝜋 :  Inflation gap from target, 𝜋𝑈𝑆𝐴: USA Inflation, ∆𝑠 : 
Nominal devaluation, installed capacity index, consumer confidence index.

installed capacity 



The effect of unanticipated monetary
policy shocks

2. Estimation of monetary policy shocks as forecasting errors
from the monetary policy rate expectations (survey of experts)

Ψ 𝑡
′ = 𝑖𝑡

𝑝
−𝐸𝑡−1 (𝑖𝑡

𝑝
)

1 2 1 2

Shock 0.43 0.58 Shock 0.56 0.7

(0.11) (0.22) (0.11) (0.22)

constant -0.003 -0.004 constant -0.005 -0.003

(0.00) (0.00) (0.00) (0.00)

Adjusted R2 0.11 0.06 Adjusted R2 0.17 0.08
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Impulse-response function
of an
unanticipated monetary
policy shock



unanticipated monetary shocks 
estimated as the average of short-

run expectations

𝑖𝑡
90−𝑑𝑎𝑦

=
1

3
𝑖𝑡
𝑚𝑝

+ 𝐸𝑡 𝑖𝑡+1
𝑚𝑝

+ 𝐸𝑡 𝑖𝑡+2
𝑚𝑝

Δ𝑖𝑡
90−𝑑𝑎𝑦

=
1

3
𝑖𝑡
𝑚𝑝

− 𝐸𝑡−1 𝑖𝑡
𝑚𝑝

+
1

3
𝐸𝑡 𝑖𝑡+1

𝑚𝑝
− 𝐸𝑡−1 𝑖𝑡

𝑚𝑝
+
1

3
(𝐸𝑡 𝑖𝑡+2

𝑚𝑝
− 𝑖𝑡−1

𝑚𝑝
)

Δ𝑖𝑡
90−𝑑𝑎𝑦

= 𝛼1 𝑖𝑡
𝑚𝑝

− 𝐸𝑡−1 𝑖𝑡
𝑚𝑝

+ 𝛼2 𝐸𝑡 𝑖𝑡+1
𝑚𝑝

− 𝐸𝑡−1 𝑖𝑡+1
𝑚𝑝

+ 𝛼3𝐸𝑡 𝑖𝑡+2
𝑚𝑝

− 𝑖𝑡−1
𝑚𝑝

+ 𝜖𝑡

𝑢𝑛𝑎𝑛𝑡𝑖𝑐𝑖𝑝𝑎𝑡𝑒𝑑 𝑚𝑜𝑛𝑒𝑡𝑎𝑟𝑦 𝑝𝑜𝑙𝑖𝑐𝑦 𝑠𝑢𝑟𝑝𝑟𝑖𝑠𝑒 = 𝑖𝑡
𝑚𝑝

− 𝐸𝑡−1 𝑖𝑡
𝑚𝑝

𝑒𝑥𝑝𝑒𝑐𝑡𝑎𝑡𝑖𝑜𝑛𝑠 𝑟𝑒𝑣𝑖𝑠𝑖𝑜𝑛 = 𝐸𝑡 𝑖𝑡+1
𝑚𝑝

− 𝐸𝑡−1 𝑖𝑡+1
𝑚𝑝

𝑒𝑥𝑝𝑒𝑐𝑡𝑎𝑡𝑖𝑜𝑛𝑠 𝑜𝑓 𝑡ℎ𝑒 change in 𝑀𝑃 𝑟𝑎𝑡𝑒 𝑖𝑛 𝑡ℎ𝑒 𝑤ℎ𝑜𝑙𝑒 𝑝𝑒𝑟𝑖𝑜𝑑 = 𝐸𝑡 𝑖𝑡+2
𝑚𝑝

− 𝑖𝑡−1
𝑚𝑝

= 𝐸𝑡 Δ𝑖𝑡+2
𝑚𝑝

+ Δ𝑖𝑡+1
𝑚𝑝

+ Δ𝑖𝑡
𝑚𝑝



Estimation results
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Δ𝑖𝑇
𝑗
= 𝜙0 + 𝜙1Δ𝑇𝐼𝑇 + 𝜈𝑇 𝑤𝑖𝑡ℎ 𝑗 = 1,2,3,4

How does the daily deposit interest rate
change with

The monetary policy decisions



Before MP 

decision

Day of the 

MP 

decision

Day after 

MP 

decision

Total 

change

f 1 0.440*** -0,081 0.265* 0.624***

(0,1476)        (0,1472)        (0,1363)        (0,1090)        

f 0 0.0015*** -0.0015*** -0,0001 -0,0001

(0,0004)        (0,0004)        (0,0004)        (0,0003)        
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